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D=(-35+11 . C=(-19)+(+7) . B=(-10)+(-13) . A=10+6
H=15+(-8) . G=(47)+(-55 . F=12+(-27) . E=(-10)+42
K=(-715+715 . J=(+43)+36 . |1=(-1675)+235
Y UL PR Y FNNO
D=(-35-11 . C=(-19-(+7)0 . B=(-10)-(-13) . A=10-6
H=15-(-8) . G=(47)-(-55) . F=12-(-27) . E=(-10)-42
K=(-715)-715 . J=(+43)-36 . 1=(-16,75)-235
f ol b s 13 oyl
C=20+(-4)+5 . B=(-4)+(-6)+(-13) . A=12+(-8)+(-7)
F=-8-74+(-17)-(-108) . D=-6+(-15)+21

:?wa‘ M
F=41+(-1237)+(-23)+124 . D=-7-5-6 . C=5-(-6)-14 . B=-8-6+3 ( A=4-17+2

C=-(-13+5-90)-(14-2) . B=-(2-90)+(-9-6) . A=(-5+13)+(-25+10)

E=—(-7+1)+[-2-(-6-4)+(1-8+4)] . D=—(1-9)-[-9+(4+6)]






